— IS TEGE —

AU PEESSEES ne

LAKE MAULE -:- RT. 5, BOX 318 -- MOULTRIE, GA. 31768 --- PHONE {912) 985-2045 -:- FAX: (912) 890-2402

SERVICE BULLETIN no.°

SUBJECT: Elevator Control Cable Attachments. = _
FAA APPROVED: /7
REFERENCE: Service Letter No. 55 o
' DATE: __JUN 11 1892

ATRCRAFT AFFECTED: A1l Maule Models.

COMPLIANCE: At option of Owner.

STATUS: Service Letter No. 55, attached for reference, is a mandatory
requirement for inspection of elevator cable attachments. This Bulletin
covers parts replacement to relieve the inspection requirements of Service
Letter No. 55 and is particularly recommended for floatplanes and any other
Maules operating in a potentially corrosive environment.

AUTHORITY: This Service Bulletin is FAA approved.

BACKGROUND: See attached Service Letter No. 55 regarding the reported failure
of an elevator cable turnbuckle.

ACTION TO BE TAKEN: Remove existing elevator cable turnbuckles and attachments.
Install new turnbuckles and attachments per Page 2 or 3 of this bulletin.
Note that the turnbuckles are the next larger size. Fasteners and other
attachment details have been changed to corrosion resistant steel.

AVAILABILITY OF PARTS: The following parts required to perform this Service
Bulletin can be procured from Maule Air, Inc.:

Quan. Part No. Ttem
1 3262B-1 Fitting — Elevator Cable
1 3263B-1 Shackle ~ Elevator Cable
1 3264B-1 Bushing - Elevator Cable
2 BM21255-C5RS Eye End - Turnbuckle
4 MS21256-1 Clip
2 MS21251-B5S Body, Turnbuckle (CRES = Corrosion
2 BM21252-C5LS Clevis End - Turnbuckle Resistant Steel)
2 AN100C-4 Thimble-Wire Cable, CRES
2 18-3-M Nicopress Oval Sleeve
3 ANS60CT10L Washer, Flat (#10) Light, CRES
6 AN960C10 Washer, Flat (#10) CRES
1 AN310C3 Nut, Castellated (#10) CRES
3 MS24665-151 Pin, Cotter (or AN381-2-2) CRES
2 AN4CT Bolt, (7). CRES
2 AN960C416 Washer, Flat (3), CRES
2 AN960C416L  Washer, Flat (%), Light, CRES
2 AN310C4 Nut, Castellated (%), CRES
2 AN3C5A Bolt (#10), Corr. Res.
2 AN365C1032  Nut, Elastic Stop (#10), CRES
1 AN3C5 Bolt (#10), Corr. Res.
Dwg. 3097F Elevator Control System (M-4)
Dwg. 3174F Elevator Control System (M-5 & up)

PAGE 1 OF 3



. AEROSE EM\[WJW
[ TECHNOLOGY, NC:

LAKE MAULE -- RT. 5, BOX 318 -- MOULTRIE, GA. 31768 -:- PHONE (912) 985-2045 - FAX: (912) 890-2402

SERVICE BULLETIN #9
COMPLIANCE RECORD SHEET

Airplane Serial Number

Airplane Registration Number

The following action was taken with respect to this Service Letter:

New Elevator Cable Turnbuckles and Attachments have been installed
in accordance with this Service Bulletin No. 9.

Please send parts required to perform this Service bulletin No. 9 to
owner's address Tisted below. (Cost: $157.00. Available approximately
June 1.) .

Not considered necessary.

Certified By (Signaturé)wT ijf gt

(Print Name)

Title (Owner, A & E, IA, etc.)

Date

In our effort to keep our mailing list current, please fill in the following:

Owner's Name

Owner's Address

City State Zip

Please return this Compliance Record to: Maule Aerospace Technology, Inc./
Engineering Records/ R#5 Box 318/Moultrie, GA 31768

IT’S PERFORMANCE THAT COUNTS!




MAULE 78855855 ne.

LAKE MAULE -:- RT. 5, BOX 318 -:- MOULTRIE, GA. 31768 -:- PHONE (912) 985-2045

SERVICE LETTER #55 Page 1 of 2
May 1991

SUBJECT: Elevator Control Cable System Turnbuckles.

AIRPLANES AFFECTED: A11 Model Maules.
1) Occurrence is most likely — Floatplanes operating on saltwater.
2) Occurrence is next likely — FloatpTlanes on brackish or fresh water.
3) Occurrence is possible - Landplanes located near saltwater.
4) Occurrence is least likely - Landplanes Tocated in dryer, less corrosive
environments,

COMPLIANCE: Mandatory for (1) - (3) above, and highly recommended for (4).

STATUS: This Service Letter should be considered an early warning of a potential
safety of flight problem. Further bulletins with recommended parts replacement
for those airplanes operating in severe conditions will be issued as soon as
possible. The new parts will be designed to reduce the possibility of corrosion
in the affected area.

AUTHORITY: Maule Air, Inc.

BACKGROUND: Maule has received a report that the upper elevator cable turnbuckle
failed adjacent to the elevator bellcrank on a floatplane in a tropical salt-
water environment. The airplane had just landed and was on the water at the
time of the failure.

ACTION TO BE TAKEN AND MATERIAL REQUIRED:

A1l operators of Maule airplanes are requested to remove the fuselage inspection
covers above and below the elevators and visually check the pivoting action

at the control cable attachment points over the FULL range of elevator travel.
This action should be such that there are no bending loads imparted to the
turnbuckles (which are designed for straight tension load only). Any binding
which causes bending of the turnbuckles should be removed. Any cable attachment
parts which display appreciable corrosion must be replaced before further flight.
Pivot points must be cleaned and lubricated with any lightweight lubricating

oil. Following lubrication, the cable attachments, including the turnbuckles,
must be heavily coated with a good preservative such as:

(Preferred) LPS 3

Black Bear Paralketone Heavy Duty Rust Inhibitor
Black Bear Company LPS Laboratories, Inc.
Long Island City, New York Tucker, Georgia

FREQUENCY:

A) For airplanes in category 1 under "AIRPLANES AFFECTED", the foregoing action
must be accomplished before further flight and no more than every 30 days
thereafter.

B) For airplanes in category 2 and 3, the foregoing action must be accomplished
before the next 10 hours of flight and no more than every 60 days thereafter.

C) For airplanes in category 4, action is at the discretion of the operator,
but no Tater than the first annual or 100 hour inspection and every annual
or 100 hour inspection thereafter.

Return of the Compliance Record is requested for all aircraft operating in categories
1, 2, and 3 so that we can provide follow-up.




BACKk OFF OME oR rwo COT7TER
PIN. SLOTS AND INSTHLL.

| @B O o
M : TIGHTEN FINGER TIGHT, THEN

COTTER PIN. JTOINT. MUST

#@J . ) e : - ROTATE FREELY,

—t ,I_\“\l.ml.”\\l \ P NG . T
= I ﬂ ﬁ ' 1 F2)E3 : - Secrion A=A . Y
: - | 1 . \ : ) | TTPITAL 2 PLACES :
. _ . - - -
1 S - .
v G J; TORQUE TO SAEC, S-/18 ~ NOTES :
N : IQINSTALL BOLT'S, NUTS, AND WASHERS. 45 SHOWAN .
. I : ) 2INO SUBSTITUTION FOR CORROSION RESISTANT RB4Rrs.
\ . S)COAT ALL CRBLE AT TACHMENT BIRTS Anp LINKS
\ / WITH PRRGLICETONE , LPS 3, OR Laurviecenr .
,,_ | / DD D PR oF saun
4 ) / AN, : .
SREFLELEVATOR CONTROL SYSTEMN DRANING No 3057~ _
|5/ lawsioce T2 (w7 crsraizares, () tammids
- SO_ANIOC 416 | 2 |\mwaswER, FLAT (78 ), Res,  ORR.RES.
- C3_|ANI0CICL| 2 |WASHER, FLAT(L4.), L icsir carm oz,
<8 Lanec o 2 _18ot7()z) ~ CoORR . ReS. |
(ET|MS2HES/5| 3 | PIN, COTTER, ComR. R ES. (#L7. AN F8/-2-2) -
A ) . | 4e TANsIOC 3 ! INUT CASTELLATED (Mo, /O)- CCRRAES) .
LIS 32648~/ | /| BUSHING -ELEW SaAckiE . | ; R
| #4AN3C S |71 | BOLT (o 10) < comm pes | S NS
_ | ! 23 wscoC oL | 3 T uasHER, FLAT Gio.r0)- ComR, e 3 N L
== T<«2lansescrosz| 2 NUT, ELAS. STOP(Wa.10) ~ ComR. RES., e
Z " # \ L E N AMSCESA | 2 |BOLT (Mo.s0) - Camm. RES. e s for
F\ NHo 132838-1 | /. |Smyckie -£LEva70m comraos SN e U
I\ . E38132828-/ | FrlAimminG ~ELevaToR CABLE T R e
- _ ) |38 SBmzizse-ciid 2t |ciavrs enD, TURNBYCKLE (BELLMEMPHIS R EFArS 2)2 53 - 52 mvommm.ﬂ
CHANGE FART Mo, 0F 17EM 10 ) - A (20 -uww.L\.m.nNNmmmL ,Aﬂ. ntb.nusﬂkﬂ.ﬁ\\@xmﬁnh S A
FRONM ANIOO~ 4,70 ANTOO € -+ (CORR.RES.) . 3 € IMS2/257-85S 2. |Booy, TURNBUCKLE (BRASS) LT e
. : IS NEm21255-C5RY. 2" | EYE END, TURNBUCKL E(BELL- WEMPHS) (RES WIS 2/2 55 = SRENEEE)
F.AA. e PART,NO.  |REQ'D DESCRIPTION - . FINISH MAT'L & SPEC.|.  STOCK-
APPROVE! " ERIS o BENE
. 7 7\_>_ __lm AEROSPFACE .
- : TECHNOLOGY, INC.
. S MOULTRIE - GEORGIA
ny: (7 g~ In . S
Dete: P 1 + (oo SERVICE BULLETIN Mo.3, Fz 2 o7 3 |




e

TIGHTEN FINGER TIGHT] THEN
EACK OFF OME oR 7o COTTER
PIN SLOTS 4NMD INSTHLL
COTTER PIN. JTOINT prpsr—
ROTATE FREELY,

Secrrion

A~A

TYPICAL 2 PLACES .

\tMMQS..\ TO SREL. 518 ~ NOTES :

TIINSTALL 8oL TS, NUTS, AND pastHass AS SHOWN.
— mw\é SUBSTITUTION FOR CoRR0510m RESISTANT BoRrs,
3)

ES ELEVATOR CONTROL SYSrem LRAMIMNG No. 3! 7¢
55 |lavzioc« 2 |\ w7 casreceares, (7&)- corr 2As .
= VinNse0C<2/6 | 2 |upsasz, ALAT (%), Rez, | (ORR. RS,
3 lAwssocarn | 2 WESHER, FCAT (22) Lict/r; corR. /=25
52 |anac s 2 _|18ot7 (%) - CoRR ors,
S/ |msz¢6¢5-757| 3 P, COTTER, CORR . RES. (917 ap b/ z-2)
50 |Anzioc3 ! _\MUT CASTELLATED (Mo, 1O)- Comp.rzs)
#9 132648~/ | 7 | Buskmg -cirr SHACKLE .
£8 |ANv3C 5 /- 80t 7(No. s0) - copp. mEs.
+7 |lavseocror | 3 WASHER , FLAT (o./0 )~ CorRe, e
#S |avzes5c032 | 2 NUT, ELAS. S70P(No.10) ~cooR. RES,
5 |Av3CsA | 2 BOLT (No./0) - CORR. RES
FEN22¢35-7 | |SHACKLE - ELEVATOR CorTRoL I S
143 \32428-7 77 ~ FITTING ZELEVATOR CARLE . | - N . .
o _ 42 lsmzzsz-cor| 2 |ciays END, TURNBYCALE (BEL LM Pt S ) R EF p7s 272 5 3 TELS)EESR:
N CHANGE A9RT Mo, oF VTEM /0 4/ msz2/256 -1 F T NCLUP, LOCKING, TURNBUCAL £ . N
FROM AN 100-4 ..\.B.\o)\\QQn.n P2 mﬁu\@m.\&m.o;.v A L0 |wser25/-585s| 2 S0y, TURNBUCKLE (B8R455) |+ R IR ot
- _ T 39 lam21255-c52 > £7E END | TURNBYCKLE (BELL-WEMPIs) (=B~ sz 2 o5 TERENEEE.
N PART NO.  |req'n DESCRIPTION FINISH MAT'L & SPEC. STOCK
MAULE PEERNOLSE . nG.
MOULTRIE GEORGIA

SERVICE BULETIN

MNo. 8. Fe,Z o F




